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SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions
1. Define the term ‘costing’.

2. Write a note on Retention money.

3. Define joint product.

4. What is operating costing?

5. What is key factor?

6. Calculate the economic batch quantity for a product using batch costing from the following details:

Annual demand for the product

-
2,000 units

Set up cost per batch



-
` 10

Cost of carrying inventory per unit
-
` 1

7. How much profit, if any, you would allow to be considered in the following case:

	
	`

	Contract cost
	5,60,000

	Contract value
	10,00,000

	Cash received
	5,40,000

	Uncertified work
	60,000


Deduction made from bills by way of security deposit 10%.

8. 10,000 units are introduced into a process at ` 10 per unit. All other expenses are ` 8 per unit. Normal Loss in the process is 10%. Scrap value is Nil. If output is 9000 units, ascertain the cost per unit in the process.

9. Find out the cost of output and Abnormal Loss

	Cost per unit of the process
	:
	` 80

	Output of the process
	:
	1000 units

	Abnormal Loss
	:
	200 units

	Scrap Value
	:
	`20 per unit

	Market price per unit
	:
	` 120


10. From the following information, Calculate kilometers and total passenger kilometers.

	Number of buses
	4

	Days operated in a month
	30

	Trips made by each bus
	4

	Distance of route
	30 Km (one way)

	Capacity of bus
	60 passengers

	Normal passengers travelling
	80% of the capacity


11. Calculate break-even point from the following particulars:

	
	`

	Fixed expenses
	1,50,000

	Variable cost per unit
	10

	Selling price per unit
	15



12. From the following information, find out P/V ratio and margin of safety.

	
	`

	Sales
	10,00,000

	Variable cost
	4,00,000

	Fixed cost
	4,00,000


SECTION B   — (5 × 5 = 25 marks)

Answer any FIVE questions.

13. What are the various methods of costing?  Explain.

14. Explain the advantages and limitations of marginal costing.

15. Thiyaga Printers undertook two jobs during the 1st week of June 2016. The following details are available:
	
	Job 110
	
	Job 120

	
	`
	
	`

	Materials supplied
	4,000
	
	2,000

	Wages paid
	900
	
	600

	Direct expenses
	200
	
	100

	Material Transfer from Job 120 to 110
	200
	
	200

	Material returned to stores
	-
	
	100


Find the cost of each job and profit or loss if any, assuming that job 120 is completed and invoiced to the customer at ` 3,000.

16. The following is the information relating to Contract No. 123.

	
	`

	Contract price
	6,00,000

	Wages
	1,64,000

	General expenses
	8,600

	Raw Materials
	1,20,000

	Plant
	20,000


As on date, cash received was ` 2,40,000 being 80% of work certified. The value of materials remaining at site was ` 10,000. Depreciate plant by 10%. Prepare contract Account showing profit to be credited to P&L A/C.

17. SNG & Co., produces a product through two processes ‘R’ and ‘S’. The following details pertaining to process ‘R’ for January 2016 are available.

	
	`

	Inputs:
	

	Material (500 units)
	10,000

	Labour
	8,000

	Indirect expenses
	7,000


Normal loss in the process is estimated at 5% of the input which possesses a scrap value of ` 31 per unit. Prepare the process account.

18. The following cost data is available from the books of Saravana Power Co., Ltd. for 2016.

	
	`

	Operating labour
	16,500

	Plant Supervision
	5,250

	Lubricants and Supplies
	10,500

	Repairs
	21,000

	Administration Overheads
	9,000

	Capital cost
	1,50,000


Total units of Power Generated 15,00,000. Cost consumed per K.W.H. for the year is 1.5 pounds and the cost of coal purchased is ` 33.06 per metric tone. Depreciation is at 4% per annum and the interest on capital is to be taken at 7% per annum.

19. From the following information relating to Kumaresh Bros. Ltd., you are required to find out.

a) P/V Ratio

b) Break even point

c) Profit

d) Margin of safety

e) Volume of sales to earn profit of ` 6,000

	
	`

	Total fixed costs
	4,500

	Total variable cost
	7,500

	Total sales
	15,000


SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions

20. M/s. Rajesh and Sathish undertook a contract for ` 2,50,000 for constructing a college building. The following is the information concerning the contract during the year         2015-2016:

	
	`

	Materials sent to site
	85,349

	Labour engaged on site
	74,675

	Plant installed at site at cost
	15,000

	Direct expenditure
	3,167

	Establishment charges
	4,126

	Materials returned to stores
	549

	Work certified
	1,95,000

	Value of plant as on 31st Mar. 2016
	11,000

	Cost of work not yet certified
	4,500

	Materials at site 31st Mar. 2016
	1,883

	Wages accrued 31st Mar. 2016
	2,400

	Direct expenditure accrued 31st Mar. 2016
	240

	Cash received from contractee
	1,80,000


Prepare contract account, contractee’s account and show how the work-in-progress will appear in the Balance Sheet as on 31st Mar. 2016.

21. The product of a company passes through two processes to completion known as A and B. From past experience it is ascertained that loss is incurred in each process as:

Process A – 2%; Process B – 5%

In each case the percentage of loss is computed on the number of units entering the process concerned.

The loss of each process possesses a scrap value. The loss of processes A and B is sold at    ` 5 per 100 units.

The output of each process passes immediately to the next process and the finished units are passed into stock.

	
	Process A
	Process B

	
	`
	`

	Materials consumed
	6,000
	4,000

	Direct labour
	8,000
	6,000

	Manufacturing expenses
	1,000
	1,000


20,000 units have been issued to Process A at a cost of ` 10,000. The output of each process has been as under:

Process A 19,500; Process B 18,800

Prepare Process Accounts.

22. Mr. Karthikeyan furnishes you the following data and wants you to compute the cost per running km of vehicle A.

	
	`

	Cost of vehicle
	2,50,000

	Road licence per year
	800

	Annual supervision & salaries
	2,700

	Driver’s wages per hour
	4

	Cost of fuel per litre
	12

	Repairs & maintenance per km
	2

	Tyres cost per km
	1

	Insurance premium p.a.
	700

	Garage rent per year
	1,300

	Kms run per litre
	20

	Kms run during the year
	15,000

	Estimated life of vehicle in kms
	1,00,000

	Average tonnage carried
	6


Charge interest at 5% per annum on cost of vehicle. The vehicle runs 20 kms per hour on an average.

23. The following particulars are extracted from the records of a company.

	
	Product A
	Product B

	Sales (per unit)
	` 100
	` 120

	Consumption of material
	2 Kg
	3 Kg

	Material cost
	` 10
	` 15

	Direct wages cost
	15
	10

	Direct expenses
	5
	6

	Machine hours used
	3
	2

	Overhead expenses:
	
	

	Fixed
	5
	10

	Variable
	15
	20


Direct wages per hour is ` 5. Comment on the profitability of each product (both use the same raw material) when:

(i) Total sales potential in units is limited.

(ii) Production capacity (in terms of machine hours) is the limiting factor.

(iii) Material is in short supply.

(iv) Sales potential in value is limited.
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